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UGC NET PAPER 2 JANUARY 22, 2017 SHIFT 1 ECONOMICS QUESTION PAPER

Note : This paper contains filty (50) objective type questions ol two (2) marks each. All

questions arc compulsory,

Marginal rate of transformation between two goods X and Y 1s defined as

MC,
(hy MRTy = I (2) MRTy =MRS,
Px
(i MREIL, o=MES,.. = P, (4)  Nonc of the above

Consider the following statements regarding the expansion path ol a firm :

L. [t shows least cost combination for producing differcnt level of outputs,
I[T.  The input prices remain constant.

Of the above which statement 1s/are true ?

Answer from the codes given below

Codes :
(13 Both I and II arc true. (2)  Only I 1s truc.
(3} Only IL1s true. (4y  Neither I nor I1 15 true.

The First Fundamental Theorem of Welfare Economics requires

(1) producers and consumers (o be price tukers

(2)  that the economy operate at some point on the utility possibility curve
(3) that there be an elficient market for every commodity

4y All ol the above
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Which among the following allocation/distribution corresponds to Rawlsian concept of
cquity ?

(1} All members of the socicty receive equal amount of goods.

(2 Maximise the utility ol the least well off people.

(3)  Market outcomes arc most cquitable.

(43 Maximise the total utility of all members of the society.

Under diseriminating monopoly, if the elasticity ol demand in market 115 2 and in market
[T, 1t 1s 1, (elasucities being m absolute terms) then the price behaviour ol the monopolist

will be

(1}  Tocharge a higher price in market [

(2)  Tocharge a higher price in market I

(3)  Tocharge the same price in both the markets

(4)y  In market I, charge double the price of that is charged in market I1

Giiven the demand tunction

20)
()= D where symbols have their usual meaning, at which price, the clasticity of demand

would be unity 7
(ry 20 2y 10
{3y 3 (4)  All of the above

The 1dea of indicative planning was first adopted in which Five year Plan of India 7
(1Y Second Plan (2)  Fifth Plan
(3)  Scventh Plan (4)  Eighth Plan

Consider the tollowing statements about Rashtriyva Swasthya Bima Yojana (RSBY) :

(A) Under RSBY the premium is shared on 85 @ 15 basis by the centre and state
governments.

(B} In the case of the North-Eastern States and Jammu & Kashmir, under RSBY the
premium is shared in a 90 : 10 rato.

Which of the statement(s) given above 1s/arc correct ?

(1y Only (B) (2)  Only (A)

(3} Both (A) & (B) (4) Neither (A) nor (B)
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9.

Match the following from the lists given below .
List—1 List —IT

a.  National Rural Employment . 2001

Programme (NREDP)

b.  Sukanya Samridhi Yojana (88Y) . 1980
c.  Food for Work Programme (FWDP) . 1983
d.  Rural Landless Employment wv. 2015

Guarantee Programme (R1LEGP)
Select the correct codes :
Codes :
tl b ¢ d
(ry  1v i 1 i
(2} 1 1 1V 11
(3) 1l v ] 111

) di i v

Which ol the following has the highest share in India’s external debt at the end of March

20015
(1)  Rupee debt (2)  NRI deposits
(3)  Commercial Borrowings (4)  Export credit

R.B.I. can print currency notes upto the value ol :
(1) < 25,000 (2) % 10,000
(3) 35,000 (4) X 1,000

Union Budget 2016-17 imposced a 13% surcharge on the income cxcecding
() 2 crore (2y I 75 lakh

(3y 3 10lakh i 8 et
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o o
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c. A % AT S HEHET (U e ) i, 1983

d.  TTHT SHEM TSR TRET ST iv. 2015
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el FHE G

T

a b C d
(ly v 1 ]
(2) 1 11 v il
(3) 11 Y I 11

(4y m I Y ]

o1l 2015 o 279 9 G o &8 0T [MEeEa O o [Sge 31eay B g 2

Gy omEra (2) T HR T T
(3)  EnfTreas ST 4y f7aE aE

(1) 25,000 (2) 7 10.000

() T 5,000 (4) T 1,000

FET TS 2016-17 F a7 omg | o9 v 15% 1 AT wmrar £ 0

(1y T2 (2) T 75 @

(3y T 10 Mg (4) T 1 TS

prepp

Your Personal Exams Guide



www.prepp.in Prepp

16.

Your Personal Exams Guide

TParamparacal Krisht Vikas Youana™ aims 1o hoost :
= ]

(1) Drip Irmigation (2)  Orguanic Farming
(3)  Horticulture Crops (4)  Vegelable Production

Classical dichotomy refers to which one of the following ?
(1) There are two sectors ol the economy, namely, agriculture and mdustry.

(2) Influence of money 1s not on the real variables like employment and output butl on

price level.
(3)  Savings come only from profits and not from the wages.

4y All ol the above

The basic rationale of the theory ol "Big-IPush’ 1s based upon the 1dea of
(1) size of population (2} external economies

(3)  nternal economies (4)  None of the above

“Central problem mn the theory ol economic development 1s to understand the process by
which @ community which was previously saving 4 (o 5 per cent or less of its national
mcome, converts itsell mto an economy where voluntary savings 1s running about 12 to 15

of nattional income or more.” Who among the following economists 1s attributed with this

view
(1} Ragner Nurkse (2)  P.N.Rogenstem-Rodan
(3)  Gunnar Myrdal (4 W. Arthur Lews

L

In the Harrod-Domar equation g = s/v, where v 1s delined as :

a

(1) The value of country’s capial stock
(2)  Incremental capital output ratio
(3)  The change in country’s capital stock

(4)  None of the above
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18,

20,

22,

Leibenstein in his critical minimum cffort thesis treats population as a factor that 1s

(1) mvestment — nducing (2) Income — generating
(3)  market — expanding (4)  income — depressing

Who among the following economists was not associated with the Dependency Theory of

Dcvelopment 7
(1y Raul Prebisch (2y  T.D. Santos
(3}  Andre Gunder Frank (4y  Gunnar Myrdal

The saving function uscd in the nco-classical growth model is a :

(1) Classical saving function (2)  Proportional saving lunction
(3) Differential saving function (4)  Constant saving function

Consider the following items in the balance of payment in India

L. NRI deposits

IT.  Remittances

Which among the above is/are part of the capital account of balance of payments ?

Answer Irom the codes below ;

Codes :
(1y Only I above (2 Only IT above
(3} BothI and Il above (4)  Neither I nor IT above

Which of the following pairs is not correctly matched 7

(1)  Taussig : Barter Terms ol Trade
(2)  Prebisch : Deteriorating Terms of Trade
(3) Marshal : Offer Curves

() Walras : Dumping Conditions
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23.

26.

Which among the following is correct for the discretionary fiscal action ?

(1) Payment of Unemployment insurance.

(2)  Payment ol Social Security 1o the retired mdividuals.

(3) A managed change in level of Government spending and/or nct tax revenucs.

(4)  Automatic changes in net tax revenues that result from income tax structure.

Who among the following called trade as the *hand maiden” of growth ?

(1y 1. Viner (2)

(3} Annc Kruger (4)

For the import substitution policy of Latin American countries in 1950°s which of the

following 1sfare true ?
I [t resulted m overvalued exchange rate.

[I. It treated development as a natural proccess.

Answer from the codes below

Codes :
(1)  Both I and IT are true. (2)
(3)  Only Il 1s truc. (d)

Consider the following coneepts :
L. [.eontiel paradox

1. Linder Hypothesis

Which among the following can be treated as exception to the conclusions of the

Irwing B. Kravis

J. Bhagwati

Only 115 true.

Neither I nor I arc true.

Heckscher-Ohlin theory 7 Answer from the codes below

Codes :
(1) Both Iand IT are exception. (2]

(3)  Only L1s an exception, (4)

Neither I nor IT are exception.

Only I1 15 an exception.
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27.

29,

30,

Which among the following statements arc true for the proposed GST arrangements in

India 7
I; Both Centre and State taxes will be collected at the point of sale.
II.  The Centre and State GST will be charged on the manulacturing cost.

Ol the above, which statement/s 1s/are true 7 Answer [rom the code below ;

Codes :
(1) Neither I nor II are true. (2)  Only 115 true.
(3} Only Il 1s true. (4)  Both I and IT are true.

Feonomists reler to an unanticipated inflation that reduces the real value ol outstanding

government debt as

(1) Burden ol inflation (2)  unanucipated delault
(3)  seigniorage (4) the mnflation tax

A public good 15

(1)  non-cxcludable in naturc.

(i1) nonrival in consumption.

(111} cxcludable i nature,

(iv) a good that public must posscss.

Sclect the correct answer using the codes given below

(1y Both (1) and (i1) (2)  Only (i11)

(3)  Both (1i1) and (iv) (4y  Only (iv)

A forward-shifted tax will aftect

(1}  buyers more than scllers (2)  sellers more than buyers

(3)  buycers and scllers cqually (4d)  eovernment revenues negatively
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28.

29,

30,
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Assume B is social benefits, C 18 social costs, r1s the social discount rate, t 18 the time and
T 1s the life of the investment project. The Net Present Value (NPY) of a project is

T B =0 T C -B
(1) NPV=2 —— (2) NPV=2  ——
=0 (I +1) =0 (1 +1)
T . Al T B
; il +1) —_ ; L L
3} NPV= 2 5—= 2y NPM =2 —
) 1=0 B = ¢, o =0 (C)

With reference (o the characteristics ol ‘non-excludability” and ‘non-rivalry’, “lLaw and

Order” 1s a classic example of

(1} ancgative externality (2) apositive cxternality
(3) increasing returns (4) apublic good

In the trade cycle theory of 1R, Hicks, Tong run equilibrivm growth 1s determined by

(1) Technology (2)  Population
(3)  Autonomous mvestment (4)  Both (1) and (2) above

Which among the following 1s not a characteristic of stagllation ?
(1}  High inflation (2)  IHigh unemployment
(3) Low growth (4)  IHigh employment

Consider the following statcments regarding the consumption function fitted by Simon
Kutzncts to US cconomic data for the period 1869 to 1929

I There appeared no constant terms i the linear consumption function so [tted.
[I.  The APC and MPC were not significantly different.

Which of the above stalement/s 18/are true 7 Answer [rom the codes below :
Codes :

(1} Both statements arc not truc.

(2)  Only I 1s truc.

(3} Only II 15 truc.

(4) Both statements I and II are truc.
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36.

3.

44,

Which among the following theory/approach docs not treat consumption to depend upon

expected income 7
(1) Keynes™ approach (2) Friedman’s approach

(3) Life cycle approach (4y  Both (2) and (3) above

In an cconomy, the saving and investment functions arc given as ;
S5=-100+02y

[=-30+0.1y¥

What will be equilibrium Ievel of income 7

(1y 1000 (23 900

) 600 (4) 700

For the set of observations : 0,4, 5,7, 100, which one ol the following 1s the most suttable

average ?
(13 Arithmetic Mecan (2)  Geometric Mcan

(3)  Median (4y  Harmonic Mean

Which 15 a random sampling method 7

(1) Quota Sampling (2)  Purposive Sumpling
(3)  Systematic Sampling (4y  Cluster Sampling

The area between — 3¢ and + 3¢ under standard normal curve 18
(Iy 1 (2)  0.9973

(3)  0.95 (4)  0.6826
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36,

3.

39.

44,

FefatEa 9 O = o7 ToEa/SarTs ST 6 DEEyTe o1d 9T Y T e 8 0

(1)  <FT A () T 3
(3) ST (4)  SHEF (2) A7 (3) T

T STYEAaTT H @9 3N et wod e R T g
S=_100+02y

[=—30+0.1y

3T oh1 O T 1 BT 9
(1y 1000 (2) 900

(3) 600 (4 700

few M0 SfiehT : 0, 4, 5, 7, 100 % U2 F foau Fe=fafea & & s geae Iuged me § 9

(1) TIoTr AT (2) sErEdE e
(3) TfeEreRT (4)  EEF AT

FrAfeifEd & | FF A5 Aia=eE ugid & ?

(1) =R wfd=ee (2)  TEYT =TT
(3) AT WidEa (4)  FoREY Ufa=a

LUEE TEMRI a3 % 3 — 36 3R + 30 % 919 &9 §
(1 (2) 0.9973

(3)  0.95 () 0.6826
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41.

42,

44,

For a symmetrical distribution skewness is

( 3 (2) 0

(3) | @) 2

Given the following data

Number of observations = 100
Arithmetic Mean = 180
Variance = 3724

The coctticient of variation will be
(1y 32.4%

2y  10%

(3) 8%

@) 1.8%

Which of the following satislies time reversal lest but not factor reversal test ?
(1} Lecspeyres (2)  Marshall-Edgeworth

(3) Fisher (4)  Paasche

For testing the association of attributes which of the following tests 1s suitable 7

CLy  Llest
(2)  Frtest
(3) %7 test

4y Ztest
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41,

42,

43,

44,
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Note : Questions 45 to 50 arc Assertion (A) and Reason (R) type. Key to these questions 1s as

40,

47.

48,

49,

tollows :

(1) Both (A) and (R) are true and (R) 1s the correct explanation ol (A).

(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(3 (A)s true, but (R) 1s false.

(4y  (A)1s tfalse but (R) is truc.

Assertion (A) : In the long period and in perfect competition, a firm carns only normal
profit.

Reason (R) : There are no transport costs 1n the system.

Assertion (A) : Labour becomes ready 1o work overtime,

Reason (R) : Industry pays its employees efficiency wage.

Assertion (A) : The principle of progressive taxation 1s a gencrally accepted state policy.

Reason (R} : Progressive taxation doces not affect distribution of income and wcealth,

Assertion (A) : Stagllation can develop due to market imperfections.

Reason (R) : Wage flexibility can cause stagflation.

Assertion (A) @ Friedman treats money as a Luxury good.

Reason (R) : It serves as a medium of exchange.

Assertion (A) : Moving average method 1s a method of trend estimation,

Reason (R) : Regression method i1s used to estimate fluctuations in time scrics,
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(1) (A) 3T (R) ST TET & 2T (R), (A) & TET AT & |

(2)  (A) IIX(R) TF1 & &, T (R). (A) & T8l 21 &l ¢ |

(3)  (A) TR &, TF<] (R) W&l TaT € |

(4)  (A) TRI R T, & (R) Fel & |

45, ATUHAT (A) ¢ Al FAM T AT 90T YTaerel § U R SHelel TR A SR Rl €

% (R) : 9 UOTEAT H HREs & I3 S ol & |

46, ATIHAT (A) : U AT AET 2120 FIT B o 07 AL 2 E

T (R) ¢ ST 70 FHAMET 1 FETIT-FSTELT 61 WA FHl & |

47. =WHT (A) : VAR FEH & [Es T S Wi 590 & |

T (R) : IITeTelieT SO 119 29 vt o faaeor s wefae T8 e & |

48, SAIHUT (A) 1 TSI I ITIOTT 3 HROT M E-ThITT &1 efd 30T 87 Fhal § |

T (R) ; TRl TR T R TRITT 1 0T 300 81 9l & |

49, SATHLT (A) 1 BISHT T5I I EeTaar i o] A9d1 & |

% (R) : 7% TOHHT & AT % T J HH FAl ¢ |

50. wfvweRa (A) @ T O oy oAl S ST A & |

e (R) : TETSEOT {afes 61 TR0 el 7ol H Soamee & 2TAM o foll [T STl & |
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